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1.

Cross elasticity is defined as :

(1) Percentage change in demand for X commodity due to percentage
" change in income from Y commodity

(2) Percentage change in demand of A consumer due to peréenteige

change in income of B consumer

(3) Percentage change in demand for X commodity due to percentage
| change in price of Y commodity. |
(4) Percentage change in demand for X commodity due to percentage |

change in price of X commodity.
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The problem of scarcity and choice can be fouhd in the definition by :

(1) Alfred Marshall {2) Lionel Robbins

(3) J.A. Schumpeter - (4) Adam Smith .
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If the utility can not be measured in numbers, it is called
(1) Ordinal utility
(2) Cardinal utility

| ‘(3) Ordinary utility

(4) Optimum utility .
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Consumer surplus can be defined as .

(1) Difference of marginal utility and price
| (2) Difference of marginal utility and total utility

| (3} Difference of marginal utility and average utility

(4) All of the above
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5.

A consumer is in equilibrium where

M)
@
)
@

The indifference curve is tangent to the price line
The indifference curve is convex to the origin
Both (1) and (2)

None of the above ‘
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In case of the inferior goods, for a fall in price
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The price effect is negative due to negative income effect
The price effect 1s positive due to positive income effect

The price effect is negative due to negative substitttion effect

The price effect is positive as positive substztutlon effect is hlgher

than the negative income effect
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. 7. The areahbetween the ridge lines show '

(1) Positive marginal productivity of both the factors
@ Negative marginal productivity of both the factors
(3) Negative marginal productivity of factor on Y-axis

(4) Negative marginal product1v1ty of factor on X-axis
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8 In the long run, the returns to scale are increasing because

(i) Thé production is experiencing_o'nly theéconomies of scale
(2) The pi*oduction is experiencing only the diseconomies of scale

3) The economies of scale are higher than the diseconomies of scale

(4) The diseconomies of scale are higher than the economles of scale.
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9.

According to the traditional theory of cost, which of the following is not
true :

(1) Average cost curve is always U-shaped
(2) Marginal cost curve is always U-shaped
(3) Marginal cost curve is always upward sloping

(4) At the minimum average cost, average cost is equal to the marginal
~ cost ; |
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10.

The L-shaped cost curve is also known as: -
(1) Lerner curve (2) Smith curve -

(38) Schumpeter curve (4) Kuznet curve
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1‘1;

Which of the following is true

(1) Total revenueis maximumlwhen average revenue is -maximﬁm
.(2) Total revenue is maximum when marginal revenue is maximum
(3) - Total revenue is maximum when average revenue is minimum
(4.)‘ Total revenue is maximum when marginal revenue is zero
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At the break- -even point ;

{. (1) The firm is incurring losses but average revenue is greater than the

average variable cost .

(2) The firm is incurring losses but average revenue is jusfequal tothe |
" the average variable cost |

(3) The firm is incurring losses but average revenue is lower than the

average variable cost

(4) The firm is getting just equal to its total cost
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-1 13.

Which of the following is not a feature of perfect competition ?
(1) Perfect knowledge (2) Perfect mobility
(3) Infinite number of buyers - (4)  Selling cost
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14.

Which of the following is not true under perfect competition ?
o)) The firm is prlce taker | |
(2) Industry is price i maker

(3)  The firm can bear losses in the short term

' (4) The firm always enjoy supernormal profits in the long run
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15.
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Under the price discrimination of the first degree -

(1) Whole of the consumer surplus is taken by the monopohst

(2) Only the marginal units of each group have zero consumer surplus

(3) The market is divided on basis of elastlc:lty of demand
(4) All of the above '
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16.. | Monopoly power is defined as
(1) (AR-MR)YAR @ 1-ARMR
(8) MRMC 4 MCMR
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Excess capamty shows:

(1) The difference of actual output and equilibrium output

(2) Difference of minimum and maximum output

(3) Difference of equilibrium output and minimum cost output

(4) None of the above.
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